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Use Blue or Black ink to write and underline and pencil to d

Instructions : (1)
raw diagrams.

Sifley - I / SECTION - 1
L. @Oy : @ oS AATEEHEREGLD aflenL_wiafl&&sab. 15x1=15
gnsb'f@ SerLsafld Wsad oL

) Oar@&sIULL
HLer elenLufenemuyd

e mars CaiHEs0SS! GmuiC
Gsiisg eT(HHaLD.
(i) Answer all the questions.

Choose the most suitable answer from the given four alternatives and

write the option code and the corresponding: answer.

Note :
(i)
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umre gemenlo LMFbLfwrEme LUTSSESTS GTEITLIENS o gfl Cobeg :
(1) uflorhmé sevlily (<) OpseLIL soUY

(@) emueary sl () Gemgenen s L
The cross which proves that sex has no influence on inheritance 18 :
(a) Reciprocal cross (b) Back cross

(c) Monohybrid cross (d) Testcross

@ UrelGULImL L 2 (Heurd@Gh Cawed G -

(1) Grssmen (<2p) HavL_Fra

() @uugTen (/) Byl L e .
The functional unit which synthesizes a single polypeptide chain :
(@) Recon (b) Cistron

(c) Operon (d) Muton

< HmID e Bluseflwevsafler @emeanre] :

(1) Qememrged (<) HenGaL

(&) epeilananrey (7) QrioL smDSD

The process of fusion between male gamete and egg nuclei are :

(a) Conjugation (b) Syngamy

(c) Triple fusion (d) Double fertilization

0 sGLICETaeVL_LTedlall&EE Geum Quwir :

(=) Qzed 2ABHSBD (<) Qgéd elpruEse

(@) Qse> siflger (F) Qga smay

Phagocytosis is also known as :

(a) cell drinking (b) cell eating

(c) celllysis (d) cell death

GQUENLIG GTGITLIZ] 62(ThH CUGHGUITEN
(1) sl euans sl (<=1,) QreiGrev L@
(@) Sy eums okl (rF) anaGomev wEpal

Spike is a type of :
(a) Mixed inflorescence (b) Racemose inflorescence
(c) Special inflorescence (d) Cymose inflorescence

Cuodmss gL NFe| GTETLIZ) :

(1) eueri&s) (1) auanenged

(@) BOSSIPMI UMETSE (rF) @LUOCLWTES
Epinasty is a movement of :

(a) Growth (b) Curvature
(c) Siesmonasty (d) Locomotion
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WEGTT LD @0 srariuBEps :

(=) G (<)) GherLl
(8) warbssssese (FF) LOLlLID
Micropyle occurs in :

(a) Ovule (b) Ovary
(c) Pollen grains (d) Tapetum

smiay CpMiEE O wERS sar@@igiudd Anob gtarefle :

(=) @g QsTLibE eueusms LrHN QaTET(HEED

(<) gmited aveurav Qsmhm Qurml sefler audwirs LFeydng

(@) @& Filenlp By T.cTem.cr. el 2 L g
() Qg 2 2 66T eeuren

Developing a vaccine for SARS is difficult because :
(a) Itis changing its form continuously

(b) It spreads by infectious materials

(c) It has double stranded RNA

(d) Itis an enveloped virus

108&@ED @aasmens Carar Geugpardll STerL :

(<=1) eumeSlavGriflwm (=) eA&CLmilwr MQwir
(@) ergdGLflwm (rF) enanlfeveom

Rooted plant with floating leaves is :

(a) Vallisneria (b) Victoria regia

(c) Sagittaria (d) Hydrilla

g 2 ulflambd 2 uflweller YA eramin@dng ?

(=) urdleflur (<) ewwsCar Warmeviom
(@) yGrm GLrGemeur () eweuged

Which organism is called biological puzzle ?

(a) Bacteria (b) Mycoplasma

(c) Protozoa (d) Virus

oyl UgI9és piqwrs Qubens elerd ?

(<) &1 (=) B

(@) euar 2 udlir (/) Bleosa
Which of the following is non-renewable resource ?
(a) Forest (b) Water

(c) Wildlife (d) Coal
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Alrey samed Gauss @puy dhs e UHPTEGDDPWTD
gHuGEng ?

(=) @By (<1,) smLlTD

(@) Cumymren (7) ZSSHTELD

‘Die back’ of shoots in citrus is caused by the deficiency of :
(a) Iron (b) Copper

(c) Boron (d) Zinc

HTEUTTEIS(EBES LILETLIL Sgnlg Ll b :

(1) ugs BT (<2p) Bamglevar FrriL Bir
(@) edrefisge Bi () ye rrliy B

The water used by plants is :

(@) Crystalline water (b) Capillary water

(c) Hygroscopic water (d) Gravitational water

ApHlend ererp Qsrédenad AdpsLLBSSeau :

(<=1) SlenCGermen (=) SiflevLmiiged
(@) 14 srenGLmed (rr) sgmemCr

The term ‘species’ was introduced by :

(a) Linnaeus (b) Aristotle

(c) De Candolle (d) John Ray

(I LITEH DaTE6T @)dled 2 emeren :

(1) Gourmlly SevmevL (<) enswrsSwibd
(&) evsid () Slirgen
Flowers are unisexual in :

(a) Verticillaster (b) Cyathium

() Cyme (d) Thyrsus
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Sifley - 11 / SECTION - II

semeuGuenib gum efamésEnsE lamLwalsse)n. efen eram 22 -0 &
S6TTIq LILING ellenL\Lef&Ea]LD.

Answer any six of the following. Question No. 22 is compulsory.

16.

17.

18.

19.

20.

21.

22,

23.

24.

< BICsTORas ameuravuaer eramuemel wWreal ?

What are oncogenic viruses ?

GNECE OSSO ETEDIE) 6Teuem ?

What is crossing over ?

HCwLCLrGur erarugl wrg) ?

What are pneumatophores ?

6x2=12

wésnCararsen edmswenolieny LLLD auarhgl LTS G-

Draw and label the parts of a maize seed.

Gargenan SLIL| GTGTDITE GTea ?
What is Test cross ?

sTGrHOL - EUMTLMISSE|LD.

Define ascent of sap.

lq G@TLTE) 6flenaTe,| GTeDITED GTeHen ? QUEnFLID).
Define - Tyndall effect.

HMHNEQEE Gar gHLBD wIHPEEH gGeaib Gran®h er(pgis.

Write any two post fertilizational changes.

sreuhisallan epatn GRE®OS CSTGILSET Wremau ?
What are the three ecological groups of plants ?
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1fley - III / SECTION - III

I stemeuGugnid oym) elammelipE eflenLwefldse,ib. el eredT 27 -H@ sL_L_mutb

aflenL_weflés Geuamm@ibd. 6x3=18
Answer any six of the following. Question No. 27 is compulsory.

25. 5 eremiu@eug wng ?
What is peat ?

26.  anwoL GLrsmanmg flureller LiL b euephg LTSD G0).

Draw and label the structure of mitochondria.

27.  Blwsefllweder Lalsar eTanaIGWIELD PPGTHIENET 6T (LPS)IS.
Write any three functions of nucleus.

28.  Slemriedlev eremmmed erere ?

What is Synapsis ?

B0 ey erammmed ereman ? gGSEILD gy)a'ngj CUSGSHENET TS .
What is aestivation ? Write any three types of aestivation.

29.

30. CETLTem eTanmred eresem ?

What is a codon ?

31. WGyeraflliuer oj@mFa| TaIDTD Gremem ?
What is Brownian movement ?

32. worelinged LHPIEGMPWITED FHUbLD claerosener eripsg)s ?

What are the deficiency symptoms of molybdenum ?

33. eumeT Bl Sreurmiser - GDILIL] euenys.
What are Xerophytes ?
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19fley - IV / SECTION - IV
V. Smeisg alamssErsEh ellenlweflésea]b. 5x5=25
Answer all the following.
34. @ EpfGumev@uid wHmID PbCarmaQuiwpsErsE e Gu 2 drer
Caugur@semer aflesiLBéss.
{60605
o maverdlpmE PCoraGsT apab sauap® UFald Hapaeiamar
afleunl.
List the differences between Gymnosperms and Angiosperms.
OR

Explain osmosis with an experiment through Potato Osmoscope.

35. el Lgs Qgd sppfulear Qe Hewamw afeufl.
S|6V60)
erflirwerp Yaluliiy ellevsufer eflevatenal denarGemmeivL &(medludl e
epeold Hlemidl.
Explain the interphase of mitotic cell cycle.
OR

Explain the experiment to demonstrate negative geotropism in aerial stems by

Klinostat.

36. uréefuredar smsulamy aamasmer LL gL e afleufl.
3|6060G)
QepL L urpbuflugens Sibd WHsTET sTeurssle wpab elaréEs.
Describe the various types of flagellation found in bacteria with a diagram.

OR

Explain intermediate inheritance in the 4 O clock plant.
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warhssTaflen amenriden aumasamer uLggiLen edleul.
ATV
AL cuens edens (panargged - aflauf.
Explain the different types of Cohesion of stamens with diagram.
OR

Explain the special type of germination.

wemaersHe Lrsefumgsaflan Liideaer efeurl.

ENTNMES)
LibGeum eueswITar Biraud SreuaiEmeT TS EST_(H&(EHL 6 LI lg Uled
806s.

Explain the role of bacteria in soil fertility.
OR

List out the different kinds of hydrophytes with examples.
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